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Attempt any two questions: (2x10:20)

lr/Implement the following function F : I (1,2,3,4, 8) using/ 
(a) Decoder
(b) Multiplexer
(c) PLA

_/Sesign clocked sequential circuit of the following state diagram by using JK flip-flop.

3. The following is a truth a table of a 3-input, "l output combinational circuit. Tabulate the PAL
programming table for the circuit and mark the fuses to be blown in a PAL diagram.

Attempt anv eight questions:

4./onvertthe following decimal numbers to the indicated bases.

/ (u)7562.45to octal
(b) 1935.257 to hexadecimal
(c) 175.175 to binarg

Inputs Outputs
x Y Z A B C D
0 0 0 0 1 0 0

0 0 1 1 1 1 1

0 1 0 1 0 1 1

0 I 1 0 1 0 I
I n 0 1 0 1 0

1 0 I 0 0 0 1

1 1 0 1 1 1 0

1 1 1 0 1 I 1

(8x5:40)
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-flxpress 
the Boolean function F : A + B' C in a sum of minterms.

6.8{ducethe following function using k-map
*" F:B'D+A'BC' +AB'C+ABC'.

Jhesign a combinational circuit with three inputs, x, y and z, andthree ou@uts, A, B, and C.
' th" binary input is 0,1,2, or 3, the binary output is one greater than the input. When the

input is 4,5,6, or 7,the binary output is one les than the input.

When
binary

.-E4mplement half adder using 2-4 decoder.

9. Design the priority encoder circuit.

.-.fd. Wnutis the difference between a serial and parallel transfer? Explain how to convert serial data to
parallel and parallel data to serial. What type of register is needed?

1 1. Design a 4-bit binary ripple counter with D flip-flops.

12. Write short notes on (any two):
(a) SIMM
(b) RrL
(c) Parity Checker
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